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−Ο ������n+7O4 + 3H2SO4 →  2Mn+2SO4 + K2SO4 + 5 �

�Ο  + 8H2O
     |_________5_________|
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P·2V = (n1 + n2)RT ⇒  P·2V = (n1 + 2n1)RT
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Q = m·c·��

Q = 100kg·1
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·34,5 oC

Q = 3450 kcal
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C4	10 + 
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O2 →4CO2 + 5H2O �	�	�
����kcal
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4C + 5H2 →  C4	10
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C4	10 + 
�
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O2 →4CO2 + 5H2O �	�	�
����kcal

C + O2 →  CO2 �	�	�
���kcal

	2 + 
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O2 →  H2O �	�	�
���kcal
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4CO2 + 5H2O→  C4H10 + 
�

��
O2 �	�	�
����kcal

4C + 4O2 →  4CO2 �	�	�
4·90 kcal

     +    5H2 + 
�

�
O2 →  5H2O �	�	�
5·69 kcal

_____________________________________________________________

4C + 5H2 →  C4H10 �	�	������
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�����kcal = -15 kcal
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K = 2e
L = 8e ������������
�����	���

M = 8e ��
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N = 1e ���
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������	���→ 2MCl + H2

A�
 2x gr �����������������
 22,4 L H2 ���stp
7,8 gr 2,24 L H2

_______________________________________________
2x⋅2.24 = 7,8⋅22.4
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          x = 39 gr ��� �����	���
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